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SECTION - A

(SEfrhe TR | T8 YRl H H IS AE R & U & | T A Th FH H 2 )

(Multiple Choice Questions, attempt any 12 questions out of 15, each question of one mark )

1.  $.UA.3R. &1 dd bl % A BAT R |
(a) 0.1 —4 um (b) 0.4-0.7 um
(c) 0.9—-1.1 ym (d 3-5um
Thermal band of EMR is between :
(a 0.1-4pum (b) 0.4-0.7 um
(c) 09-1.1pum (d 3-5um

2. A WEkid T8 g e
(@) TS (b) e e
(c) dASE (d) fends
Water does not reflects in :
(a) Visible band (b) Infrared band
(c) Red band (d) Blue band

3. To0Y,ITE.UH.UH. HaE 1 GHIIH &
(a)  5.64. (b) 1.
(c) 1884 (d) 234
Resolution of WIFS sensor is
(a) 5.6m (b) Im
(c) 188 m (d 23m

4.  3Afeper Mfawe 3TThg] o Hehd 1oty & €9 H Tsh TTeH & —
(@) 3 (b) E3Tm.
(c) SRISEd (d) BRI
Data input is an operation of encoding data into :
(a) Image (b) DEM
(©) Data box (d) Aerial photo
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YA 3T AT ST HiTifeTeh TET JoTTett B $ehgl fohal STl &
(a)  had AT

(b) I AT

(c)  oIaety 3R FALTaei™ a1 # & fopeht 1§ e

(d) oAl 3R LR gFt o

Aspatial and spatial data is stored in GIS;

(a) Only spatial (b)  Only aspatial

(©) None of them (d) Both of them

imfeteh FEAT Joreft (S.3715.TH.) Ush UHT 91eH &, S || §9 8 T 3Tiehel ol
Tehiehd <hcl & 1
(a) TR-3TH™ A (b) 3ThE @

(c)  hdcl BT Hdt FId (d) IFHF IR - Al

GIS is a tool which integrates data into a common format obtained from :

(a) non-digital source (b) digital source

(c) only hard copy source (d) digital and non-digital both

ST 3ueket feum Frertor o ot sger fopan SiaT 7, ettt 3 1
(a) SWMR

(b)y  AFIH

(c)  wimiferes =T womeft (Sh.3ms.u.)
d)  Tavasrd feufa femor yoreft (Sh.d.ea.)

The instrument used to determine location is called :

(a) Satellite (b) Aircraft

(c) GIS (d) GPS

forearead feufa frafon yoreft (SR..wm. ) el s aendt 2 1
(a) GuTH (b) HHH AR

(c) ol AT H (d) U % iR

GPS can work in :

(a) tunnel (b) inside room

(©) clear sky (d) under water
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10.

11.

12.

13.
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215w, 6 ygan aiafda gt @ -

(@  15-100H. % = (b) 20&H — 1. H =
() 05t -5 Hfw (d) 15fi-safisdg
The accuracy of DGPS varies between :
(a) 15—-100 m (b) 20cm—-1m
(©) 0.5m-5m (d lITem-5cm
=g o St &l ferfeneott et werarfela et 2, heerd 2
(a) ®e (b) et
(c) A G
A body which reflects all radiation is called :
(a) White (b) Black
(©) Coloured (d) Grey
wiimiifeteh e SoTTed! S Tequl Hered < g ST B, e 3
(a) 99 .37, (b) HIETEA .38, T4,
(c)  SoTITES Sft.37ms.ud, (d) 2-2tSit.3mE.u.
GIS that is integrated through an entire organization is called :
(a) Web GIS (b) Mobile GIS
(©) Enterprise GIS (d) 2-DGIS
3 < e wsh Afafter S Attt g 8
() (b) e
(c) T (d) TS 3T ST
3-D objects have an extra dimension of :
(a) Length (b) Width
(©) Depth (d) Length and width
3TS.TH. Y. G &1¢ <hl <aTal & STl &, ITed SIHehRI hl T hish
(a)  IME.INTH. | (b) TEEH
(c) TWHEY (d) IARFETECH. T
Flood warning is issued by IMD, using inputs from :
(a) IRS (b) Insat
(©) Gagan (d) RISAT
4



14.

15.

21 3R Ty savT & bl A W @ ST Hehdt &, JET

(a)  R.ARTHTA. (b) T
(c) M (d) <rrEe
Dengue and Chickengunia prone areas can be mapped using :
(a) RISAT (b) Insat
(©) Gagan (d) Toposheet
TTHE ITUE YAt oh TR TR <okl ohidl &, e §
(a) IR greao (b) i & IR
(c)  qEfe wer (d) ErElaThR e
INSAT Satellite rotates around the earth in direction :
(a) North — South (b)  South — North
(©) Geostationary orbit (d) Elliptical orbit
g -9
SECTION - B

B U HAREIR T EARE 3 | (TAF TS Fh 1 2 1)

Attempt any four questions out of six (2 marks each).

16.

17.

18.

19.

20.

21.

247

Yl el H fohedl TR Wi 1 Ieoi@ HITT |

Mention any four stages in Remote Sensing.

3ffereh Sifcrepfa SRR (13759 ) o e ST o1 Ieeha HiTT |

State the steps involved in Digital Image Processing (DIP).

TTeT |t o fepegl =R st =ht Trse Shifsre |

Explain any four input sources of data.

AT § HTR-gaer W fafau |

Write on edge matching in mapping.

Torgaeadt feufa e yoredt (Sh.dt.ug.) = @vet i samen hifvT |
Explain segments of Global Positioning System (GPS).

Yol Haied < forepre shi waft o1 Ieoi IR |

State the trends of development of Remote Sensing.

5

4x%h=2

4x%h=2
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SECTION - C

T SRAT H H h1g I A B A & | (0 T i 316 1 8 1)

Attempt any five questions out of seven (3 marks each).

22.

23.

24.

25.

26.

27.

28.

247

3T Aot TR farfertor & St o e Sfp & fhdf dA TRl sl wse Aol | 3x 1=

Explain any three mode of energy interaction response of incoming radiation.

Y § &1 AN g ¢ i Sumsl & weet 3t Ao e i w=men

IR | 1+1+1=

What is resolution ? Explain the spectral and radiometric resolution of various
satellite.

ARt 1 g 2 W fodia foefi-Re=me bt s Hifs |

What is histogram ? Explain non-linear contrast stretching.

Wiifetes Fam1 Jomelt (S.3718.T. ) H STehmfia Jtfehei o fohd TehR Wferse ferarm S dehar

7 7 Tesfierssm mems | 1+2=

How spatial data can be entered into Geographical Information System (GIS) ?
Explain Digitization.

Srepiofia sttt Sttt (Seids Sher Jeash TIN) & w1 Stfirgm & 7 wrse Hifv |

What is Triangulated Irregular Network (TIN) ? Explain.

gifefaes SreT 9T <l faRivand Trse Hif | 3x1=

Explain the properties of topological data structure.

@1 % A T GG H GGl HAGH 1 [hH TohR STANT TR ST Hehll & 7 TT€ HIT |

How can remote sensing be used in study and management of droughts ? Explain.

6
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SECTION -D

Td Y91 H T s g T EA HE & | (FAh T I AF A1 2 1)

Attempt any five questions out of seven (5 marks each).

29. TG Go¥ Foled (TR.TH. ) § 1 i & 7 wose Hifre | 1+4=5

What is Microwave Remote Sensing (R.S.) ? Explain.

30. fore aeffentor s @ 2 3UUR <l & Imqdafara affetor it samet Hifda | 1+4=5

What is image classification ? Explain unsupervised classification of Satellite Data.

31. G HolGd (3T.TH.) % TN LA o o= et o Ts¢ HifT | 5

Explain various advantages of using Remote Sensing (RS).

32.  WIIfoTeh FET Jomelt (Sf.378.Td.) § foeet 37t TReX o TR &Rt o RIT-31 &9 3R
SRR 5

What are the advantages and disadvantages of using Vector and Raster data in
Geographical Information System (GIS) ?

33.  g&d <hl gufd S Al JTTett T R 7 Wiiforsh gET YuTTett (S.3TE.TE. ) § gHeh IR
! T HITAT | 1+4=5

What is co-ordinate system of projection ? Explain its uses in Geographical
Information System.

34, I INUTRA HTifetsh T JUIel (378,08, ) T 8 7 6o ot 37 &= o1 Soor
HT | 1+2+2=5

What is Web based Geographical Information System (GIS) ? Mention its advantages
and disadvantages.

35.  YehY 3TTYCT oh ST H - TR Tehrieh] o FANT hi SATET HIT | 5
Explain the use of Geospatial Technology in the study of earthquake disaster.
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